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[Bodce B 1
Calculer la limite de la fonction f quand x tend vers xy, dans chacun des cas suivants :
1) x, =2 t(x)= X’ +x-6 2) x,=1; f(x)=J3x+1—Jx+3
Jx+7=2x* +3x-5 2x” +3x-5
2
s
[Bodce B 2

Calculer la limite de la fonction f quand x tend vers xy, dans chacun des cas suivants :

3—+Vax+1 2+/5x—-1—-(7x-8)

b x=2; (=70 2 % =23 flx)= 31X +x+10-12

VxX+2-2
2J—x+6-3/2x+10

X—VXx+2
Jax+1-3 VX +x+10 —4J/x+4

Exercice 3 Maths-inter.ma 3._

Calculer la limite de la fonction f quand x tend vers xy, dans chacun des cas suivants :

3) x,=2; f(x)=

4) x,=-3; f(x)=

2 3x+2 3 1-3x
D) x,=0"; flx)=—=—"—"— 2) x,=2"; f(x)= -
) % W=7%""5 ) % N s R
1 Xx+3 3 1-3x
3) x,=0"; f(x)= - 4 x,=-2"; flx)= _
) X () x-DVx (x+1x ) %o &) x+3)Vx+2 (x+4d)Vx+2
EEN 4 4+ I

Calculer la limite de la fonction f quand x tend vers xy, dans chacun des cas suivants :

~0: f(x): Vx+1++vVx+4-3

py f(X)= V3x+3++/x+2-5

1 x, 2) x,
X x—2
x+1+Vx*—1-Vx*+1 6+Vx2+1-2vax* +1-+/2x* -1
3) x,=1; f(x)= ; ) x,=2; f(x)= .
x -1 3P +x—6-1/2
[Bocce [ s I

Calculer la limite de la fonction f quand x tend vers xy, dans chacun des cas suivants :

VIx+3+Jx+2-1 2/x+5+7/—x+1-9V3
3x2+x-2 X+x-2
Vax+1+/-5x+14-5 1+Vx2 +1-x* —1-+/2x*+1
VIx+2+/11x+3-9 9 x=32; 1(x)= V2x+1-x? +1
2\5x+1+32x+3-17 Jx+8+/2x+7-6
4x+2-2x-1-3J5 Vx+3+2x+2-4

1 x,=-1; f(x)= 2) x,=-2; f(x)=

3) x,=2; f(x):

5) x,=3; f(x):

6) x,=1; f(x)=

Bonne Chance
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